

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-49522-66aa6b8589829**

VERIFY.FTGS.US Date: July 31, 2024

Seller (Exporter) TRENDnet INC.	Transport Type Air	Port of Loading LAX
20675 Manhattan Place Torrance CA USA Consignee Disty for import and export 22 Al Shahid Mohamed Qenaya St., Almazah, Heliopolis	Destination Country Egypt	Destination Port CAI
	Export Date 2024-07-26	Exporting Carrier RJ CARGO
	Import Permit Number	Bill of Lading / AWB LAX72395772
Cairo Governorate Egypt	Owner or Agent ARGENTS AIR EXPRESS LTD DBA ARGENTS EXPRESS GROUP	Forwarding Agent
Buyer (Importer)	Remarks HAWB No: ORDEA029492	

	Consignor reference: SI-1400244		
Description (May include notes on Quantity, Item Number, Marks and Numbers, Ki	nd of Packages.)	Weight	Country of Origin
EG-MGBS10 Qty 70 - Mini-GBIC Single Mode (10Km)		26	Taiwan
1 S Codo: 9517620095			

(May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	weight	Country of Origin
TEG-MGBS10 Qty 70 - Mini-GBIC Single Mode (10Km)	26	Taiwan
H.S.Code: 8517620085		
TI-PG62 Qty 20 - 6-Port Hardened Industrial Gigabit DIN-Rail PoE Switch	38	Taiwan
H.S.Code: 8517620010		
TI-PG102 Qty 10 - 10-Port Hardened Industrial Gigabit PoE+ DIN-Rail Switch	18	Taiwan
H.S.Code: 8517620085		
TI-MGBS10 - Qty 80 - 1000Base-LX Industrial SFP Single-Mode LC Module (10km)	26	Taiwan
H.S.Code: 8517620085 CERTIFICATE OF ORIGIN		
TEG-MGBRJ - Qty 20 - 1000BASE-T RJ-45 Copper SFP Module S2100201	9	Taiwan
H.S.Code: 8517620085		
TI-PG541I - Qty 5 - 6-Port Hardened Industrial Gigabit PoE+ Layer 2 Managed DIN-Rail Switch	10.85	Taiwan
H.S.Code: 8517620085	MAHAHAH	
TI-PG1284I - Qty 5 - 12-Port Hardened Industrial Gigabit PoE+ Layer 2+ Managed DIN-Rail Switch	17.5	Taiwan
H.S.Code: 8517620085		
	// / 	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-49522-66aa6b8589829**

VERIFY.FTGS.US Date: July 31, 2024

Transport Type Port of Loading Seller (Exporter) Air LAX TRENDnet INC. 20675 Manhattan Place **Destination Country Destination Port** Torrance Egypt CA USA **Export Date Exporting Carrier RJ CARGO** 2024-07-26 Consignee Disty for import and export Import Permit Number Bill of Lading / AWB 22 Al Shahid Mohamed Qenaya St., LAX72395772 Almazah, Heliopolis Cairo Governorate Forwarding Agent Owner or Agent Egypt ARGENTS AIR EXPRESS LTD DBA ARGENTS EXPRESS GROUP Buyer (Importer)

HAWB No: ORDEA029492 Consignor reference: SI-1400244

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
TEG-MGBSX - Qty 80 - Mini-GBIC Multi-Mode Module	34	Taiwan	
H.S.Code: 8517620085			
TFC-GMSC (EU) - Qty 20 - 1000Base-T to 1000-SX Fiber Converter	19	Taiwan	
H.S.Code: 8517620085			
TFC-GSFP (EU) - Qty 40 - 100/1000Base-T to 1000Base-SX/ LX SFP Converter	28	Taiwan	
H.S.Code: 8517620085			
TPE-224WS(EU) - Qty 30 - 24-Port 10/100Mbps Web Smart PoE Switch w/ 4 Gigabit Ports	300	Taiwan	
H.S.Code: 8517620010 CERTIFICATE OF ORIGIN			
TPE-2840WS (EU) - Qty 10 - 28-Port Gigabit Web Smart Smart PoE+ Switch	121.2	Taiwan	
H.S.Code: 8517620010			
TPE-5048WS (EU) - Qty 3 - 52-Port Gigabit Web Smart PoE+ Switch	62	Taiwan	
H.S.Code: 8517620010			
TI-PG102I - Qty - 30 - 10-Port Industrial Gigabit L2 Managed PoE+ DIN-Rail Switch 24 - 57V	84	Taiwan	
H.S.Code: 8517620085			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-49522-66aa6b8589829**

VERIFY.FTGS.US Date: July 31, 2024

Transport Type Port of Loading Seller (Exporter) Air LAX TRENDnet INC. 20675 Manhattan Place **Destination Country Destination Port** Torrance Egypt CA USA **Export Date Exporting Carrier RJ CARGO** 2024-07-26 Consignee Disty for import and export Import Permit Number Bill of Lading / AWB 22 Al Shahid Mohamed Qenaya St., LAX72395772 Almazah, Heliopolis Cairo Governorate Forwarding Agent Owner or Agent Egypt ARGENTS AIR EXPRESS LTD DBA ARGENTS EXPRESS GROUP

> HAWB No: ORDEA029492 Consignor reference: SI-1400244



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
TL2-F7120 (EU) - Qty 5 - 12-Port 10G Layer 2 Managed SFP+ Switch	31.7	Taiwan
H.S.Code: 8517620085		
TI-PG162 - Qty - 10 - 16-Port Industrial Gigabit PoE + DIN-Rail Switch	21	Taiwan
H.S.Code: 8517620010		
TEG-MGBS40 - Qty 5 - Mini-GBIC Single Mode 40Km	2.25	Taiwan
H.S.Code: 8517620085		
TI-MGBS40 - Qty 5 - 1000Base-EX Industrial SFP Single-Mode LC Module (40km)	2.15	Taiwan
H.S.Code: 8517620085 CERTIFICATE OF ORIGIN		
======================================		
ADRID CHAMBERS FEDERATION		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

LA-C00-49522-66aa6b8589829/July 31,

TRENDIET

INVOICE

TRENDNET

20675 Manhattan Place, Torrance, CA 90501 Phone: 310-961-5500 Fax: 310-961-5511

www.TRENDnet.com

Bill To: Disty for import and export

Khaled Seada

22 Al Shahid Mohamed Qenaya St.,

Almazah, Heliopolis Cairo Governorate, Egypt Ship To: Disty for import and export

Khaled Seada

22 Al Shahid Mohamed Qenaya St.,

Invoice Number: SI-1400244

Invoice Date: 07/22/24

Page: 1

Almazah, Heliopolis Cairo Governorate, Egypt

Air Freight **Customer ID** EG1784 P.O. Number 07/22/24 9-24

Tracking No. 07/22/24

Due Date Terms Prepaid

Ship Via

Ship Date

P.I. Number SQ-1027690 Our Order No. SO-1376864

Int. Ref. No.

SalesPerson Stephanie Xian Unit

Item	SKU / Description	Ünit	Qty.		Total Price
TEG-MGBS10	Mini-GBIC Single Mode (10Km) (HTS:8517620085)	PCS	70	16.15	1,130.50
	Made in Taiwan				
TI-PG62	6-Port Hardened Industrial Gigabit DIN-Rail PoE Switch	PCS	20	142.50	2.850.00
	(HTS:8517620010)	. 55			,
	Made in Taiwan				
TI-PG102	10-Port Hardened Industrial Gigabit PoE+ DIN-Rail Switch	PCS	10	275.50	2,755.00
	(HTS:8517620085)				
	Made in Taiwan				
TI-MGBS10	1000Base-LX Industrial SFP Single-Mode LC Module (10km)	PCS	80	26.60	2,128.00
	(HTS:8517620085)				
	Made in Taiwan				
TEG-MGBRJ	1000BASE-T RJ-45 Copper SFP Module	PCS	20	26.60	532.00
	(HTS:8517620085)				
	Made in Taiwan				
TI-PG541I	6-Port Hardened Industrial Gigabit PoE+ Layer 2 Managed DIN-Rail Switch	PCS	5	213.75	1,068.75
	(HTS:8517620085)				
L _	Made in Taiwan		_		
TI-PG1284I	12-Port Hardened Industrial Gigabit PoE+ Layer 2+ Managed DIN-Rail Switch (HTS:8517620085)	PCS	5	551.00	2,755.00
	Made in Taiwan				
0 0	Mini-GBIC Multi-Mode Module	PCS	80	14.25	1,140.00
	(HTS:8517620085)				
	Made in Taiwan				
TFC-GMSC (EU)	1000Base-T to 1000-SX Fiber Converter	PCS	20	40.85	817.00
	(HTS:8517620085)				
L	Made in Taiwan				
TFC-GSFP (EU)	100/1000Base-T to 1000Base-SX/ LX SFP Converter	PCS	40	25.65	1,026.00
	(HTS:8517620085)				
TDE 004M0/ELL	Made in Taiwan	500	00	000.00	0.040.00
TPE-224WS(EU)	24-Port 10/100Mbps Web Smart PoE Switch w/ 4 Gigabit Ports (HTS:8517620010)	PCS	30	228.00	6,840.00
	(1113.0317020010)				

Transferred to page 2.....





LA-C00-49522-66aa6b8589829/July 31,

TRENDIET

INVOICE

TRENDNET

20675 Manhattan Place, Torrance, CA 90501 Phone: 310-961-5500 Fax: 310-961-5511

www.TRENDnet.com

Bill To: Disty for import and export

Khaled Seada

22 Al Shahid Mohamed Qenaya St.,

SKU / Description

Almazah, Heliopolis Cairo Governorate, Egypt Ship To: Disty for import and export

Khaled Seada

22 Al Shahid Mohamed Qenaya St.,

Invoice Number: SI-1400244

Invoice Date: 07/22/24

Page: 2

Almazah, Heliopolis Cairo Governorate, Egypt

Customer ID Air Freight EG1784 P.O. Number 07/22/24 9-24

Tracking No. **Due Date** 07/22/24

Terms Prepaid

Ship Via

Item

Ship Date

P.I. Number SQ-1027690

Our Order No. SO-1376864 Int. Ref. No.

SalesPerson Stephanie Xian

Unit

Qty.

Unit Price Total Price

	Made in Taiwan	Oiiit	Qty.	Onit i iloo	1014111100	
	and 2 Mini-GBIC Slots					
` ,	28-Port Gigabit Web Smart Smart PoE+ Switch	PCS	10	285.00	2,850.00	
	(HTS:8517620010)					
	Made in Taiwan					
TPE-5048WS (EU)	52-Port Gigabit Web Smart PoE+ Switch	PCS	3	598.50	1,795.50	
	(HTS:8517620010)					
	Made in Taiwan					
TI-PG102I	10-Port Industrial Gigabit L2 Managed PoE+ DIN-Rail Switch 24 - 57V	PCS	30	361.00	10,830.00	
	(HTS:8517620085)					
	Made in Taiwan					
TL2-F7120 (EU)	12-Port 10G Layer 2 Managed SFP+ Switch	PCS	5	222.30	1,111.50	
	(HTS:8517620085)					
	Made in Taiwan					
(HTS	16-Port Industrial Gigabit PoE + DIN-Rail Switch	PCS	10	323.00	3,230.00	
	(HTS:8517620010)					
	Made in Taiwan					
	Mini-GBIC Single Mode 40Km	PCS	5	39.90	199.50	
	(HTS:8517620085)					
	Made in Taiwan					
TI-MGBS40	1000Base-EX Industrial SFP Single-Mode LC Module (40km)	PCS	5	76.00	380.00	
	(HTS:8517620085)					

Above items are manufactured by TRENDNET, Inc. USA in Taiwan.

Total amount is based on FOB Torrance at US Dollar

Beneficiary Name: Trendnet, Inc.

Transferred to page 3.....

Made in Taiwan





LA-C00-49522-66aa6b8589829/July 31, 202

TRENDIET

INVOICE

TRENDNET

20675 Manhattan Place, Torrance, CA 90501 Phone: 310-961-5500 Fax: 310-961-5511

www.TRENDnet.com

Bill To: Disty for import and export

Khaled Seada

22 Al Shahid Mohamed Qenaya St.,

Almazah, Heliopolis Cairo Governorate, Egypt

Ship Via Air Freight Ship Date 07/22/24

Tracking No.

Item

Due Date 07/22/24 Terms Prepaid

SKU / Description

Bank Name: Comerica Bank

Bank Address: 13200 Crossroads Parkway North

City of Industry, CA 91746

USA

Account No. 1894989241 SWIFT Code MNBDUS33 Routing/ABA# 121137522 Invoice Number: SI-1400244 Invoice Date: 07/22/24

Page: 3

Ship To: Disty for import and export

Khaled Seada

22 Al Shahid Mohamed Qenaya St.,

Almazah, Heliopolis Cairo Governorate, Egypt

Customer ID EG1784 P.O. Number 9-24

P.I. Number SQ-1027690 Our Order No. SO-1376864

Int. Ref. No.

SalesPerson Stephanie Xian

Unit Qty. Unit Price Total Price

Invoices and delivery terms are bound to the agreed conditions of the distribution agreement. 30-Day Limited Return Policy

With valid Return Merchandise Authorization number and subject to 20% restocking fee. Product must be received undamage with original packaging, manual, etc.

Surcharges/I

2% late fee on past due balances. Returned checks subject to \$35 fee.

 Subtotal:
 43,438.75

 Invoice Discount:
 0.00

 Tax:
 0.00

 Freight:
 0.00

Total (USD) 43,438.75